XWMK VA
B A SRS 8 007 HANSAVFLEX

|_§:3 - o
#0 1 KSRGS T - M-
FHER 1 BOUBHR SW._- I
02 K HISMBL BT i [ — g
BHER 2 244 . I
EWRE  EARBREE e -
w _
ERER £ E90° )
R AE DIN 2353 T
1ISO 8434-1 : 1.
%] BE T E R NYIR) -
Bs e L
®’R
BERE, BA. EAAEHAEN TERENBBELSASEREENERES,
# &
SR ITHEEH S
XWM 04 LL 6 VA LL PN 100 4 M6x1K 8,0 11,0 17 15 9
XWM 04 LL VA LL PN 100 4 M8x1K 8,0 11,0 17 15 9
XWM 04 LL 10 VA LL PN 100 4 M10x1K 8,0 11,0 17 15 9
XWM 06 LL 6 VA LL PN 100 6 M6x1K 7,0 9,5 17 15 9
XWM 06 LL 8 VA LL PN 100 6 M8x1K 8,0 9,5 17 15 9
XWM 06 LL VA LL PN 100 6 M10x1K 9,0 9,5 17 15 9
XWM 08 LL 6 VA LL PN 100 8 M6x1K 8,0 11,5 20 17 12
XWM 08 LL 8 VA LL PN 100 8 M8x1K 8,0 11,5 20 17 12
XWM 08 LL VA LL PN 100 8 M10x1K 10,0 11,5 20 17 12
XWM NW 04 HL VA L PN 315 6 M10x1K 8,0 12,0 20 19 12
XWM NW 06 HL VA L PN 315 8 M12x1.5K 12,0 14,0 26 21 12
XWMNWOSHL12VA L PN 315 10 M12x1.5K 12,0 15,0 27 22 14
XWM NW 08 HL VA L PN 315 10 M14x1.5K 11,5 15,0 27 22 14
XWM NW 10 HL VA L PN 315 12 M16x1.5K 11,5 17,0 28 24 17
XWM NW 13 HL VA L PN 315 15 M18x1.5K 13,5 21,0 32 28 19
XWM NW 16 HL VA L PN 315 18 M22x1.5K 15,0 23,5 36 31 24
XWM NW 03 HS VA S PN 400 6 M12x1.5K 12,0 16,0 26 23 12
XWM NW 04 HS VA S PN 400 8 M14x1.5K 12,0 17,0 27 24 14
XWM NW 06 HS VA S PN 400 10 M16x 1.5 K 12,0 17,5 28 25 17
XWM NW 08 HS VA S PN 400 12 M18x1.5K 12,0 21,5 28 29 17
XWM NW 10 HS VA S PN 400 14 M20x1.5K 14,0 22,0 32 30 19
XWM NW 13 HS VA S PN 400 16 M22x1.5K 14,0 24,5 32 33 24
HERRHLL=FER =R S=F - PN=HIEEH PB=FARIEDH - Od2=EBHER

R
XWMK BEARIRRIERE, AE0°, W
WMK VA  FEARIBRIERE AE0°, TN

RERT 7 RAFF BRI ETLHEBRK £ 1RAY ATBE 3T AT R A915 B B #E K 2\ | T AR FH Ao
07.08.2025 HANSA-FLEX AG www.hansa-flex.com 1



